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Tha table bel ! represents @ action of snacks purchased at a cinama acc ording to gender:

iz & woman or purchased paanuts
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If a parson is selected, find the
degres
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If (x) is the number of exarcising hours and (y) is the weight, choose the regression line equation that
represants the following statement: When the exarcising hours increase 1 unit, the weight decreases
(1.32) kg on average.
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ApbaurSIN ol L 0151120 nmuinll usgll

chool district contains 4 elementary ols, 5 middle schools, and 6 high schools. If two schools are
ad at random without replacement, find the probabi hat both of tham are alemantary schools.
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The following data are recorded

116, 7 T ey =50, and ¥
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Exam STAT 110 Second S« xstear 1437-14

Find the sample space for tossing three coins.

{H, T}

{HHH, HHT, HTH, THH, TTH, THT, HTT, TTT}

Amstrerark Purieptien Boarissd 1o Mg Alahid Asds L sty
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xam STAT 11t

If the correlation coefficient between twa variables equals (- 0.12), this means that the relationship

batwean the two variables is:
N
wearaak ol ve

wieak negatiee
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1438F

Cards are numbered from 1 to 10. If a card is selected rande mly and the number of it is noted, then it is

raplaced and a second card is selacted, find tha probability of getting an even number and an odd
numbar.
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If an event E cannot occur, then its prabability aguals:

T
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Second Exam STAT 110 Second

If A and B are mutually axclusive events with P(A)=0.25 and P{A or B)=0.4, than find P{B).
015

D&
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DLIH209 opaiandl o

18 of 32 In a club thara are 5 womean and 4 man. If a committea of 3 : selected, find tha probability that
at least one of them is a man.

0.048

r aliwil A

usstiormark Paroeglion bosned b King Abdul Asiz Undersity
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Which of these cannot be considered a correlation coaefficient?
- 1.80

0.89
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QUL AL LT WAIDIILY L Rdesindl atgll

An urn contains brown balls and white balls. A pars =
probability of selecting a brown ball and a vita ball is ; > hility alact
ball on the first draw is O , find the probability of lecting a white ball on the se
the first selected ball was a brown ball.

ing a brown
d draw, given that

i et Parcab e b i bis By Abated Aia L srmr iy
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7 of 32 Box 1 contains 2 red balls and 2 blue balls. Box 2 contains 3 red balls and 2 blue balls. A die is rolled. If
tha number is greater than 4, box 1 is selected and a ball is drawn. If the number is less than or aqual 4,
box 2 is selected and a ball is drawn. Find the probability of selecting a red baill.

0.8
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Sacond Exam STAT 110 Second Semest

"Having a large shoe size and having a high score.” These events are said to bea ...

v uiually exclusives
certain
deperdent

inchependent

Cruestionmark Perosption hcenssd bo King Abdul Az Unskveessty
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ARSI AL L

fac o one ;
If a die is rolled one tima, find tha probability of getting a number greater than 2 or an odd number

sstserenar i Purcapiien hosnesd io King Al At Uiy

— e ) ARy
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The value of the correlation coafficiant must ba:

st e nmpdin bosnssd b g flekd S Uity
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; students in both STAT and MATH exams are shown in the following table:
i| A A : . e || & |

[~ wam sl sl s <|-]|

Compute Spearman rank correlation coefficient.

The grades obtained by five -

¥ il

Cumsticrack Barcaption boensed bo King Alsid fsis Unrersty
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Aln) -« IS a graph of the ordered pairs (

sting of the independent vari -
et dadeguidred . g o i pen ariable x and

i plot

1 Frequency poly
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The chance of an event occurring is called......

probability

outoome
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A committes contains B members, 3 of which are man, If 3 members are selectad at random, find the
probability that one of tham s & man
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onod Exam

=4
How many ways can 6 employees be seated on a stage?

46,656

T aliwil Asasas < o JUN Jlhantl

Catbaremark Parception Boenmmd o Kig Ab<hal Az Uity
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When we study the relationship between the age of a house and its price, the correlation coefficient
could be:

Cemmticoreeark Barimg i b G King Alail Acks Uriversty
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In a hospital 329% of patients have type A blood, 15% of patients have type AB blood, and the othars
have type O blood. If a patient is salected randomly, find the probability that she has typa O blood.

0048

P T ik

2.8

Qumstiurenat, Parption busrsed Lo King Abdul Azts Lnkesrsty
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DLIH209 opaiandl o

18 of 32 In a club thara are 5 womean and 4 man. If a committea of 3 : selected, find tha probability that
at least one of them is a man.

0.048

r aliwil A

usstiormark Paroeglion bosned b King Abdul Asiz Undersity

Scanned with CamScanner




Jpml spe cllall dmoly -
¥ Ny BuiguSIL CALIALN 01:50:28

0

wmasandl asgh

r the attac

The following data are recorded

116, 7 T ey =50, and ¥
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a are recorded:
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xam STAT 11t

If the correlation coefficient between twa variables equals (- 0.12), this means that the relationship

batwean the two variables is:
N
wearaak ol ve

wieak negatiee
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Vv
y =
¥

¥’

0.212 + 0.622 X

0.622

7.056 + 2.407 x

2.407

0.212 x

7.056 X

=10, 3x=116, ¥ y="T0, Fxy =30, amd 3 a7 = 120

The egquation of (he regression lime in:
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King Abdul Aziz University Faculty of Sciences Mathematics Department

Math 110 Second Test Fall 2012 (30 Marks) Time 90 m
Student Name: Student Number:
2 J—
1) 1f 229 <f (x)<x +3, then limf (x) =
does not exist -3 0 D] 3
2) The domain of the function f (x )= 5 L — s
(2,90) R = (—o0,c0)
(—2,0) D] R\{In 2}
. (3Xj
sin £
3) lim—~%< =
) i (5Xj
tan| —
7
15 21 10 14
Al — — Cl— —
14 10 21 o] 15

4) The inverse of the function f ={(0,3),(—2,—1),(3,4),(5,—2),(1,7)} is
f'= {(0,3),(-1-2),(4,3),(-2,5),(7.1)}
f ={(3,0),(-1-2),(4,3),(-2,5),(7.2)

D] f ={(-2,-1),(34).(5.-2),(1,7),(0,3)

}

f ={(0,3),(~2,-1),(4,3),(-2,5),(7.1)}
}
)=

5) Find the inverse of the function f (x sz +;.
2X —95 5x +1 oX +1 ox —1
A C
3x+1 2x—3 2x+3 IEIZX—S
IImx2—16_
6) x4 X2 _4 B
1
[a] 0 1 5 [D]8
2
7) "mx/Sx —8+1:
xoo X 4+
0 J5 €] -5 D] =
8) cos(2x) =

[A]1+42sin®x [B]1—2sin®x —1-2sin®*x [D] -1+ 2sin’x




9) If 2% =8 then x =

[A] -3or -2 —6or -1 [Cl6orl D] 20r3
Iimx2—3x —4
10) X —>4 X —4 N
5 8 5 [D] does not exist
2y, 2 . <
11) The number k that makes f (x)= KxT+3x+l ix<l continuous at 1
5kx —2 ;x >1
IS
[A] -3or -2 —6or -1 [Cl6orl D] 20r3
12) Iin_12(x3—2x +1)=
-3 3 c]-11 D] 13
13) cos‘l(g):
[A] Zrad 7 rad 7 rad 0] % rad
2 4 3 6
i x°+3x?
14) Tz
[A]3 7 -3 [D]7
15) If sin(x):%, and 0<Xx <%, then cos(x ) =
1 43 7
— B4B B2 bl
R, B B Bl
16) "m—qx+9—3:
x—0 X
1
0 B1 gz D
17) If f (x)=cosx,then D, =
(—oo,l] (—oo,—l) [—1,1] @R:(—oo,oo)
2X +3 x >-2 ]
18) If f (x)= , then limf (x)=
2X +5 x <-2 X —>-2
3 does not exist 1 D]-1
lr o _
210° 240° 300° [D] 330°




20) 300° =

4?ﬂrad 5?ﬁrad 7?ﬂrad D] %rad
: X+1 . i
21) The function f (x) = > Inx IS continuous on
R [B] R\ {In2} CIR\{2} D] R\{e?}
22) The vertical asymptote of f (x)_3_—x is
X?—5x —6
Al y =-1,6 B]x =-1,6 Clx =-6,1 D] y =-6,1
23) lim |X 9|
x->9" X —9
does not exist 1 0 D] -1
Iimx3 -27
24) x>3 X —3 B
1 1
does not exist B 18 >7 [D] 27
25) Ilm(smx —COSX )=
1 3-1 3+1 1-+/3
\/_ B L V3 D] _\f—
2 2 2
26) Fmd the range of the functionf (x)=3".
(0,0) R = (—o0,00) (—0,0) [b][-11]
27) lim 3x > —5x +9
H°<>6x + 3X +2
1
¢ > © [0
28) Find the domain of the function f (x ) =sin™"(2x —5).
[2,3] (2,3) [-2,3] [D][-11]
29) log, 64 +log,32+3log, 2=
4 B]14 c]8 D] -2
30) sec(snj_
6
2 3 1
- = — — -3
H- = - el D!




King Abdul Aziz University Faculty of Sciences

Mathematics Department

Math 110 Second Test Fall 2012 (30 Marks) Time 90 m
Student Name: Student Number:
1) 5?7[ rad =
210° 240° 300° [D] 330°
2) 210° =
4—”rad 5—”rad 7—”rad D] &rad
3 3 6 6
limX =3 _
3) x>3Y° —27 N
1 1 :
27 B] 18 >7 [D] does not exist
4) sinl[ﬁJ_
2
7 rad 7 rad 7 rad 0] % rad
3 6 2 4
. 1 V4
5) If S|n(x):7, and 0<x <E,then cot(x) =
1 43 7
— [BI4&B3 ] == —=
K, 5 © - b5
6) log, 64 +log,32—3log, 2=
4 B]14 c]8 D] -2
7) The vertical asymptote of f (x):z?’;x IS
X“+5X —6
y =-16 B]x =-16 Clx =—6,1 D] y— 61
8) "m\/x +25-5 _
x —0 X
1
0 1 0 D] 10
2X +3 X =2-2 )
9 Iff (x)= , then lim f (x)=
2X +5 X <=2 x—>-2"
3 does not exist 1 D]-1
10) Iirr_12(x3 —2X +1) =
3 -3 “11 BIEE




J2x%2-8 +1_

11)  lim
x>0 X + 7
J2 0 2 [D] o
X% +9 .
12) If <f (x)<x -3, then |IIT(])f (x)=

does not exist -3 0 D] 3

13) tan(s—”j:

6

2 3 1
- = - -——= -3
- Bl c-% O

i x?-3x -4

14) xl—rﬂ X —4 N
5 8 -5 [D] does not exist

15)  lim(sinx +cosx )=

—J3-1 3-1 3+1 1-+/3

V3 L V3 D] _\f—

2 2 2 2

16) The domain of the function f (x) = i 1ex is
R\{In3} R =(—o0,0) (=3,0) [D] (3,0)

17) The inverse of the function f :{(0,3),(—2,1),(3,4),(5,—2),(7,1)} is
[A]f *={(3,0).(1-2),(4,3),(-2,5),(.7)}
f *={(0,3),(L-2),(4,3),(-2,5),(7.)}
f={(0,9),(-21).(4,3),(-2.5).(.7)}
D] f *={(-21),(34).(5-2),(1,7),(0,3)}

5x?—5X +9

18)  lim—— -
x=>0]10X “+3X +2
1 1
E 10 o0 D] 0
lim X =4 _
19)  xSax?-16
1
[A]8 1 s [D]o

20) cos(2x) =
[A]1+ 2cos? X [B]1—2cos®x [c] -1—2cos*x  [D]-1+2cos®x




i x°-7x%
21) M~ =2 =

X
[A]3 [B] -7 c]-3 D)7

22)  Find the domain of the function f (x)=sin"(2x —11).
(5,6) [5, 6] [—5,6] @[—1,1]

X +1
3—-Inx

R\{e’} [B]R\{In3} CIR\{3} D] R

23) The function f (x) = is continuous on

24) If 27928 then x =

[A] =3or -2 —6or -1 [Cl6orl D] 20r3

x=7" X — 7
does not exist 0 c]1 D] -1
26)  Find the inverse of the function f (x) = 3)( +g.
X —
X -5 ox —4 oX +4 ox —4
A C
3x+4 7x 3 x -3 IEI7x+3

. 5X
S|n(7)
27) IXIL?’W_
tan| —
2

15 21 10 14
Al = — cl=— —
14 10 21 o] 15

28) If f (x)=sinx ,then R, =
(-1 (01) € R=(<ex) [B](-10]

29) Find the domain of the functionf (x)=7".

(0,0) R = (—o0,%0) (—0,0) [b][-11]
2y, 2 . <
30) The number k that makes f (x)= KxT+3x+l ix <l continuous
—Tkx -2 ;x>1
atlis

[A] -3or -2 —6or -1 [Cl6orl D] 20r3




King Abdul Aziz University Faculty of Sciences Mathematics Department

Math 110 Second Test Fall 2012 (30 Marks) Time 90 m

Student Name: Student Number:
1) The function f (x) = 5X ;;]1)( IS continuous on

R\{In5} BIR\{e°| CIR\{5} D] R

2) If f (x)=sinx ,then D, =
Al (=] (-0-1) ] R=(-0)  [BI[-11]

3) If sin(x):%, and 0<x <%,then sec(x) =

1 43 7
Al—= 443 |[c| — —=
5 B4R B DBl
2
4) lim J7x —8+1:
x>0 X +1
7 0 J7 D]
5) The domain of the function f (x) = - 1ex is
R =(—o0,0) R\{In 7} (=7,0) [D](7,0)
IImx2—3x -4
6) X —4 X —4 B
8 5 -5 [D] does not exist
7) Find the range of the functionf (x)=2".
(—00,0) [—1,1] (0,00) [D]R= (—oo,oo)
2X +3 X >-2 )
8) If f (x)= , then lim f (x)=
2X +5 ;x <=2 X—>-2 "
3 does not exist
1 [D] -1
x? -4 .
9) If 2sf(x)ﬁx + 2, then Ilngf (x)=
—2 does not exist 2 D] 0
10) cot(S_”j:
6
2 J3 1
-5 - - -3
B~ B - D




11) Iin_12(x3—2x +1)=
~-11 3 -3 D] 13

12)  Find the domain of the function f (x)=cos™(2x —9).

&(45) [E][-45] [&l[45] BI[-11]

13) log, 64 —log,32—-3log, 2=
Al 4 [B]14 [c]8 [D] -2

14)  Find the inverse of the function f (x) = :2;( _; .
X —
3x -9 Ox -7 Ox +7 9x —
A C
2x—7 3x—2 3x+2 IEI3x+2
15) The vertical asymptote of f (x):z?’;x IS
X“+X —6
y =-3,2 [B]x =-3,2 Clx =—2,3 D] y =-2,3
i x°—3x?
16) N %z
[a]3 B]-7 -3 [D]7
2y, 2 . <
17) The number k that makes f (x) = KxT+3x+l ix<l continuous
—bkx -2 ;x >1
at1lis
[A] -3or -2 —6or -1 [Cl6orl D] 20r3
limX = -
18)  Six?o49
1
[A]14 Bl 1 [D]o
limX =2 -
19) x—>2X3_8_
1 1 :
[A]12 E s [D] does not exist

20)  The inverse of the function f ={(0,3),(—2,1),(3,4),(5,1),(7,1)} is
f *={(-21),(34).(51).,(17),(0,3)}
f *={(0,3),(1L-2),(4,3),(L5),(7.1)}
f 7 ={(0,3),(-21).(43),(L5).L7)}
[D]f *={(3,0),(1,-2),(4,3),(1,5),(1.7)}




2)  tan (_j
Ne
[A] Z rad B] Zrad 7 rad 0] % rad
3 6 2 4
22) lim 2x2 —-5x +1 _
x>0 8X “ +3X —2
1 1
0 3 o0 D] 2
23) If 22>*°=8 then x =
[A] -3or -2 —6or -1 [Cl6or1 D] 20r3
24) lim k-2
x—>2" X —2
does not exist 0 c]1 D] -1
25 IIm—
) HO\/X +49 7
1
A=~ B]14 clo D] 1
26) lim(cosx —sinx )=
~J3-1 J3-1 J3+1 1-3
X £ I
27) — cos(2x) =
[A] —1—2sin’ X [B]1-2sin®x [c] -1+ 2sin®x [D]1+ 2sin®x
5)
sin 3
28)  lim—>/—
X —0 (5)()
tan| —
7
15 2 10 14
Al = — cl=— —
A 14 1 21 o] 15
29)  330°
4—”rad 5—”rad 7—7zrad @&rad
3 3 6 6
1
30) ? I‘ad=
210° 240° 300° [D] 330°




King Abdul Aziz University Faculty of Sciences Mathematics Department

Math 110 Second Test Fall 2012 (30 Marks) Time 90 m

Student Name: Student Number: D]
1) The vertical asymptote of f (x) :% IS

y =-3,2 [B] x =-3,2

clx=-2,3 D] y =-2,3

15 21 10 14
Al = — cl— —
14 10 21 o] 15
2X +7 X >2-2 )
3) If f (x)= , then lim f (x) =
X +9 ;x<-=2 X—>-2
3 does not exist 1 D] -1

4) The inverse of the function f ={(2,3),(—2,1),(3,4),(5,1),(7,1)} is .
f 7 ={(-21).(34).6:1.0.7).23)
f *={(2,3),1L-2),(4,3),15),(7.1)}
f *={(32),1-2),(473),15),L7)}
DIf *={(2,3),(-21),(4,3),(L5),(L7)}

5) log, 64 —log,32+3log, 2=
Al 4 [B]14 [c]8 [D] -2

6) 300° =
4?ﬂrad 5?ﬁrad %rad D] %rad
7) 4?” rad =
210° 240° 300° [D]330°
8) The function f (x) = 7)(_;11)( IS continuous on
R\{In7} R\ {7} CIR\{e"} D] R
Vi3 846

9) lim
X 20 X +1

[A] V13 [B]0 [Cl oo D]\13




— cos(2x) =

10)
[A]1—2cos® x —1—2c0s*x [c]-1+2cos’x  [D]1+2cos?x
11) Iin_12(x3—2x +1)=
-11 B]3 13 D] -3
2
12) lim 3x2 —-8x +15 _
x> Ox © +4x —13
1 1
0 ;s k3 D]
i x*+7x2
13) M
[A]3 B]-7 -3 [D]7
2y, 2 . <
14) The number k that makes f (x) = KxT+3x+l ix<l continuous
Tkx —2 :x >1
atlis
[A] -3or -2 —6or -1 [Cl6orl D] 20r3
Iimx2—3x —4
15) X —>4 X —4 N
[A]8 does not exist cl-s5 [D]5
16) Find the inverse of the function f (x) = :73§ +§.
9% +2 Ox -2 Ox -2 3x -9
A C
3x—7 3x+7 3x—7 IEI7x+2
. X
17) IIim———=
) x>0 X +16 — 4
1
Al o B8 DBt
18) If 2"+ =8  then X =
—30r—2 —6o0r -1 60r1 @ZorS
19) If f (x)=cosx, then R, =
[a] (0,1) [—1,1] R = (—o0,0) |§|(—1,0]
i x?-49
20) xl—rg X —7 B
1
)14 B 1 o




21) Find the domain of the functionf (x)=5".

(—0,0) [-11] (0,0) [D] R =(—o0,0)
. 1
22) sint| —= |=
Eatd

%rad %rad %rad @%rad

23) Imj( COSX —SinX )=

—3-1 3-1 3+1 1-3

J; B ‘fT */_2 1-\3

24) Find the domain of the function f (x)=sin"(2x —7).
(3,4) [—3,4] [—1,1] @[3,4]

i x°-8
25) xl—rg X —2 B
1 i

12 B] E 8 [D] does not exist

26) If sin(x):—, and 0<x <%,then tan(x) =

1 J_ 7
1 @B & i
A5 B8 B85 Bl
X°+4 .
27) If Zsf (x)<x —2, then Imgf (x)=

-2 does not exist 2 D] 0

28) cos(%j

6

2 J3 1
- L - ]
A- Bl g-% O

29) I|m| 5|

x5 X —§

does not exist 0 c]1 D] -1

30) The domain of the function f (x):5 lex is

R =(—o0,0) (-5.9) R\{In5}

D] (5,)




